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3-1-0:

SIT : 80, 320, 560, 800

TPC : 800 -- 1800, 100 layers
SET : 1800

4-1-0:

SIT : 80, 320, 560

TPC : 560 -- 1560, 100 layers
SET : 1560, 1800

5-1-0:

SIT : 80, 240, 400

TPC : 400 -- 1400, 100 layers
SET : 1400, 1800

6-1-0:

SIT : 80, 320

TPC: 320 -- 1320, 100 layers
SET : 1320, 1560, 1800

8-1-0:

SIT : 80, 340, 600

TPC : 600 -- 1600, 100 layers
SET : 1600, 1800

9-1-0:

SIT : 80, 390, 700

TPC: 700 -- 1700, 100 layers
SET : 1700, 1800

11-1-0:

SIT : 80, 415, 750

TPC: 750 -- 1750, 100 layers
SET : 1750, 1800

12-1-0:

SIT : 80, 430, 780

TPC: 780 -- 1780, 100 layers
SET : 1780, 1800
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Ratio of dP /P, over TPC(800mm)
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